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Question. 1  

On which of the following documents can you calculate profitability?  

A. Forwarding order  

B. Forwarding quotation  

C. Freight unit  

D. Freight order  

Answers A  

Question. 2  

In which SAP Fiori apps can you define whether business shares are considered in the carrier selection 

process? Note: There are 2 correct answers to this question.  

A. Edit Carrier Selection Settings  

B. Define Transportation Lane  

C. Create Business Share  

D. Edit Freight Agreement  

Answers A C  

Question. 3  

What are some of the parameters that you can define in the forwarding order type? Note: There are 

3 correct answers to this question.  

A. Planning profile  

B. Dangerous goods profile  

C. Export forwarding order type  

D. Shipping type  

E. Bill of lading type  

Answers C D E  

Question. 4  

You want to configure a scenario in which a single trailer will be hauled by more than one truck. Which 

of the following must you customize? Note: There are 2 correct answers to this question.  

A. Transportation unit type  

B. Freight booking type  

C. Freight order type  

D. Forwarding order type  

Answers A C  

 



 
Question. 5  

You have defined the transportation zone hierarchy and means of transport hierarchy as shown in the 

screenshot below. Transportation lanes have been defined for all means of transport between all 

transportation zones. Five allocations have been defined: Orientation: Within; From: 1; To: 1; Means 

of transport: B. Orientation: Within; From: 1; To: 1; Means of transport: A. Orientation: Along; From: 

2; To: 3; Means of transport: B. Orientation: Along; From: 4; To: 2; Means of transport: A. Orientation: 

Along; From: 4; To: 5; Means of transport: C. Which allocations are consumed by a freight order with 

means of transport B from transportation zone 4 to transportation zone 5? Note: There are 3 correct 

answers to this question.  

A. Orientation: Along; From: 2; To: 3; Means of transport: B  

B. Orientation: Within; From: 1; To: 1; Means of transport: B  

C. Orientation: Along; From: 4; To: 2; Means of transport: A  

D. Orientation: Within; From: 1; To: 1; Means of transport: A  

E. Orientation: Along; From: 4; To: 5; Means of transport: C  

Answers A B E  

 


